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Eleventh Method e daall 43, |
(tan xX)" , (cot X)" £ (pa J) g3 Jalsi 43y jha
| = j (tanx) dx = I (tanx)" (tanx)%dx = I (tanx)" (sec? x—1)dx

"~ n— n-1
I = f(tan x)" sec? xdx — I (tanx)" dx = (tan x)

— _[ (tan x) “dx

50 B Lebas 2yl i

(tan ax)", (cotax)™ g (a JIge Jalssi L

| = I (tanax) dx = _[ (tanax)" " (tanax)?dx = j(tan ax)" (sec? ax ll)dx

(tanax)"™

a(n-1)

n-2 n-2 n-2
I = I (tanax) sec® axdx —I(tan ax) dx= —I(tan ax) dx

. Ol 35 Lalai A3y Hhall iy

Example (53): Evaluate 1 = [tan® xdx

(tan x)" h

_[ (tan x)\ndx =

N

j(tanx) dx =

—j(tanx) dx

_ (tan x) (tan X)?

2
_[(tanx) dx It nxdx = @Hn(cosxﬂc
Example (54): Evaluate 1 = [tan®xdx

j(tan x)ndx

M I(tan x) “dx
n—
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tanx)*™* tan x
I_j(tanx)d x = ) —J'(tanx) dx = )

_[ (tan x)2dx

(tanx)® (tanx)®

—tanx+Xx+c

. (tanx)® _((tan x)*

3 1 J'(tan x)° dx]

tanx+_[dx:

Twelfth Method e 456N 43y jhal)
(csc X)", (sec X)" &5l (s J g2 Jalsi Ay jha
| = [ (secx"dx = [ (secx)” " (secx0”de
U =(secx)"? = du = (n—2)(secx)" *secxtanxdx & dv = (secx)’dx = v =tanx
| = j(secx)”dx =w - [vdu
| =(secx)"2(tan x) — j (tan X)(n — 2)(sec x)" sec x tan xdx
| = (secX)" (tanX) — (n—2)f (secx)” (tanx)*ce
| = (secx)"™ (tanx) — (n-2)f (sec )" (sec” x~1)ax
| = (secx)"*(tanx) - (n—2) (sec x) dx+(n—2) [ (secx) " dx
| = (secx)™ (tanx) — (n—2)1 +(n—2)[ (secx)" o
| +(n—2)1 = (secx)™* (tanx) + (n~2)[ (secx)” dx
(=1 = (secx)" (tanx) + (n=2)f (secx)” " x

- (secx)"*(tan x)

n-2 n-2
+ secx) dx
n_lj( )

n-1
Jseoxax = CE I 12 [,
5 555 Lt 2 ks
j(cscx)ndx=_(CSCX)_l(COtX) j(cscx) dx

(csc ax)", (sec ax)" gl (xa Jlge Jalsi Lal

| = I (secax)ndx = j (secax)n_2 (secax)®dx
u=(secax)"? = du =a(n-2)(secax)" *secaxtanaxdx & dv=(secax)’dx=v= itan ax
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| = j(secax)ndx = uv—jvdu

| = é (secax)"*(tanax) — _[ é (tanax)(a)(n — 2)(secax)"* sec ax tan axdx

| = (seca)"*(tanax) - (n-2)f (secax) " (tanax)*cx

| = (seca)"*(tanax) - (n - ) seoa) " (sec* ax ~ Do

| = (seca)"*(tanax) - (n - ) (se0a) b+ (n - ) secan) "o
| = (seca)" (tanax) — (n-2)1 + (n-2)f (secan)" "o

|+ (n-2)1 == (seca)”* (tanax) + (n-2)f (secan) "o

(n=-1I = i(sec ax)"*(tanax) + (n— Z)I(sec ax)n_zdx

| om 20 12
I (sec ax)ndx = EES a:zn (;)an ax) n-2 j (sec ax) “dx
j(csc ax) dx = — (S Z)((r)] 1()COt ) j(csc ax)dx
Example (55): Evaluate | = j sec? xdx
n-2
f (secx) "dx = (sec X)n _itan X) j (sec x) i
3-2
J(sec X)SdX _ (secx)”“(tan x) 3 2 j(sec x) 2 4x _ secxtanx +1jsec Sl
3-1 2
.[(sec x)sdx = w L =In(secx+tanx)+c
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